

Physics Paper 1 ms
FORM 3  EXAM
PHYSICS PAPER 232/1
MARKING SCHEME
1.Main scale =		4.201
Vernier scale =	0.03 +
Actual reading =	 4.23cm1
2. Work done = Δ K.E
		=mv2 -mu2
		=x 0.25 x (7.5)-x 0.25 x52
		=3.906J
3.  W1=mf1
	7N=m x 10N/kg
	m=7N/10N/kg=0.7kg1
	W2 =mg2   g2 =5N/0.7kg
	g2= 7.143N/kg1
4. - Bubbles flattens to a film, and moves up the funnel in order to make its surface area as small as possible.
5. 	Convection current takes place upwards.
-Convection requires material medium but the space between the sun and atmosphere has no material medium.
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wt x 40 =0.75 x 80
  wt= 1.5N 
7. P= Pa +h∂g1
  	= 1x 105 +(0.2 x1000 x10)1
	=1x 105 +2000
	=102000 Pa1
8. The motion is due to the constant collision between the smoke and air particles, which are in random motion.1
9. The longer the conductor the slower the rate of thermal conductivity.
10. T= = 0.02 sec
     VAB =   	1.25
	        2x0.02	=31.25cm/s
     VCD =	 5.25
	           0.04	=131.25cm/s   
Acceleration =	 

	=131.25 -31.25  
		0.14
=	=714.29cm/s
		=7.143m/s
11.Velocity ratio (V.R)increases 
	efficiency decreases.
12. The boy falls in front1 of the matatu . This is because of inertia.1
13. A1V1 =A2V2
	= 0.01X 40=0.04x V21
	v2= 0.01 x40
		0.04
		=10m/s1
14. (a) Quantity of heat required to change the temperature of a unit mass of a substance by 1 Kelvin.
	b) i) (I)-Temperature remains constant as the solid changes to a liquid, (melting point).
(II)Temperature constant .Heat absorbed used to change liquid to gaseous state (boiling point).
	ii)The substance had some heat energy before it was heated.
	c)i)Qc = C Δ θ
	=40JK-1 X6 
	=240 J
	ii) QW = Mw Cw Δ θ
	=100/1000x 4200x 6
	=2520J
	iii) Heat lost = Heat gained 
		= 2520+240
		=2760J
	iv) Mm Cm Δ θ=2760
	Cm =	 2760
		0.15x74	  
		=248.65J
 (
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)15. (a)Volume of a fixed mass of a gas is inversely 1 proportional to the pressure provided 1temperature is kept constant.

										 Set up 2 Marks




The pump is used to compress air. The pressure is recorded on the bourdon gauge1 and corresponding volume read1 on the mm scale.
A graph of V against P is plotted 1from a set of readings obtained.
c) As it rises the pressure exerted on it decreases 1hence volume increases1 according to Boyle’s law.
d) P1V1 = P2V21
	but V1 =2V2
P2 = 
=P1 X 2V1/V1
=2P1
P2=2 X 1.013 X105
=2.026 X105 Pa
Pressure due to the liquid =P2-P11
	=(2.026 -1.013) X 105
	=1.013 X105 Pa 
height h = 1.013x 105
	      1000 x10
	=10.13m1
16. a )Impulse =change in momentum .
	b)i)after  t seconds 
	v=u +gt
	Δ K.E = ½ mv 2
	½ m(u+gt)2
	½ mu2+2x ½ mu gt + ½ mg2t2
	=1/2mu2+ mugt + ½ mg2t
ii) After s meters 
	V2=U2+2 GS
Δ K.E =1/2m (u2+2gs)
	=1/2 mu2 +mgs
	=1/2mu2+mgs.
c) (i)-up thrust 
	- weight
	-viscous drag
	ii) -Viscosity varies 
Reason: Acceleration causes a change in Viscosity.
iii) Constant velocity when upward forces equals the downward forces.
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)
17. a) (i) Velocity ratio is the ratio of effort distance to load distance.1
	(ii) M.A is the ratio of load to effort.1
	b) Microphone1
	c) Lose in k.e =Gain in heat energy 
	½ mv2
	½ x 20/100 1x (400)2
	=1600J.1
	d) k= ½ ke21
	½ x 68 x (0.22)2
	=1.6J1
	e) 	Power = work done by effort 1
		            time
	= effort x effort distance 
		time 			
but V.R = effort distance
	    load distance
	=4= x/0.61
	x=2.4m
power p =(20x 2.4) =3.2w1
	         15
18.a)i)s= u t +1/2 at21
	=θ+1/2 a x 72=49
	A = 2m/s21
	ii) V= u + at 
		v =  0+(2x 7)1
	= 14m/s1
	b) (i) s = u t + ½  gt2
	=0+ ½ x10x t2 =1.21
	t= 0.49 seconds1
	ii) s=u t
	 u =s/t 
	=2.5/0.491
	= 5.102m/s1
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